Name: Score:

One-step: S3

- @entifying Graphg

Choose the correct graph that best describes the solution for each inequality.

1) 2x>18 or 6x<-18 2) -7<7x<35
a) €—+—+—o—+++++1+"1+1+1> a) 1+ ¢—+—+—+—+—+4++1+1>
-6 -3 0 3 6 9 12 -3 -1 1 3 5 7 9
by €++¢+++++1++ot++> b) €+—+—o—+—+—"t—"t—"to+t+—++-+>
-6 3 0 3 6 9 12 3 1 1 3 5 7 9
o Attt 1111 o <+t —t+—+t+—+t+t+1++1>r
-6 3 0 3 6 9 12 3 1 3 5 7 9
d) <+t ¢4+ttt d)
-6 3 0 3 6 9 12 3 1 1 3 5 7 9
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d) 2 4 6 8
7) 23+x=17 and 9x< 54 8) §>6 or 5x>-45
a) H—H++++ | || a) o1
-21-18-15-12 9 6 -3 0 3 6 9 12 15 -21 -15 9 3 3 9 15
R by < bbl e
-21-18-15-12 9 6 -3 0 3 6 9 12 15 21 15 9 3 3 9 15
g o Q9 A
-21-18-15-12 -9 6 -3 0 3 6 9 12 15 -21 -15 -9 3 3 9 15
R R e d) e
-21-18-15-12 -9 6 -3 0 3 6 9 12 15 -21 -15 -9 -3 3 9 15
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